EQUIVALENZE

Completa le equivalenze

0,006hg=____ g
0.037 Kg=s W= 1g
0,888g=___ g
893hg=__  Kg
172 Kg = Mg
Y9ImgeEl o
0,08dg=____ cg
0,691 Mg=____  Kg
68,2mg=____  dg
58,292hg=_ 3" ¢

Realizzata da @Maestra Stefania

8,295¢g=
87,071 cg =
0,003g=

4,746 Mg=______
0,133Mg=_____
0,004 hg =
0,079Kg=_____

0,057 Kg =
743 Kg =

78,229 hg =g« dg
0,426 hg=____ dg
2dag=_____ cg
4,025dag=______ g

1 Kg= Mg
52Kg=__ . Mg
40,711 dag=____ _dg
1,4dg=____ dag
0,216 dg = cg
7,60bhg=___  dag
816 Kg=____ Mg
77g= dag
8%,1dg=____ dag
7.239,2dg=_____ dag
0,789 Mg=_____ Kg
0,511 hg= g
6,686cg=___  mg
3,33'g=:. . "“idg
789cg=____ dag
0,999dag=_____ dg
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